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Math 1050-006 Practice Final Exam

1.) Find 3 things that are wrong with the following statement:
[2,5]1 € 2,1)

® (A,\) should  be (\;2)

Weer  ConYaned 1n Symbsl, € Shemld be =
Y 7

® s¢ 0 > [Rs1EWR)

2.) Ifthe function f: Q=R is defined as f(x) = x*+2x then:

a) What set does the object x belong to?
AS ‘h\g, doma\n \% @ 4 )(é @ ) e X N A (0\‘“0(\0‘ numf\b";f

b) What is f(3)?
£(3)= (3)Y'+2(3)= A+ 6 ’—‘@

¢) What is f( r)?
07 ¢ Q = 42(1() is wndefined

3) If a,,a,,a,,..=—3,1,5,...then what is the 80th term in this sequence, ag,?

This locks ke an acithmeRe sequence, Oy = Antd

)
5 Q‘L=\‘—O\.-\—A="5"é

1= -3+4d
d=4
The peedichon equetion of an orithewhe Sequance 18 Og= Q,F (n-1)d
N=80, a,-3 =» a_ = -3+ (80-1)4 = -3+ F1(4)

8o

N = 3l6-3= [313)

4.) Whatis Y, (k-3)?

= 30

20 29

> (k-3) = 2Lk + 2L (-3)

k‘i\ ‘K=\ k:l

= O\r‘\n\f"\l\’l(_ Sup~ ¥ Con 5\“&f\\' Sur
oi¥mene e Sm = _—::— (Qﬂ*al) COV\S\"T’A* Sam = N (va’\%\"("")
n= 20 . 29 (14 20) n= a0 - 20(-3)
A7 \ ) T (ui\ﬁ\ﬂf\\' =-3 - - (.OO
0,,= &0 = lo(g\\): A\o

L, 57 (k-3) = R10-6O - [iso)
Koy



5.) How many different ways can you arrange the 6 letters a,b,c,d,e,f into 'words'?
(for example: bacdef is a 'word")

Trere—ore G cbjechy ond  ordrs metfie s

. e sH3al = 6l-[?ao)

6.) Write out Pascal's triangle to the row n=4 and use the Binomi&l theorem and Pascal's Triangle

to factor out ! (GRS
o factor out (x+ y) Biminial Pleckdas Z <,:3) Xy
=0

3 3 5 353

=0 \
=\ v\

o 4 v 3 Yy 2 v 3
D = (DY ()Y (DX ()X
=3 ¢ 3 3 | ayy @

4 X

4y d b oo By
?&5(0\\'5 "(‘\c\nj\e, l-; Yq ¥ ‘-}X\IB{' (o)(z\laﬁ’ L‘Xg’y + X'-' l

7.) If h(x) =x"+x and g(x) = x-2 solve for:
a) gOh(x) oL a 2
0)(h(,<\):<3(>< ¥ X) (x+x)—;:\x ey

b) hog(x)

D. 2
k(c)(x)) = h(x-2) (x-2) + (x-2) = X -Hx+H + %~
- x*- 3x x|
8.) Find the domain and range of the following graph: [)_(/3_——

(3‘*) Do\'vxmf\ 60(’,‘3 g*rem \ \"> S'
(23) (43\) with ;S no¥ iacluded

> BQma-‘n: (\,i)\

P\anj"r 30&5 F'crY\ "‘\ Yo L-‘
w v S N 'v\cluc\ﬂ.—(\, L oadoddd

v

g .
(D (5-) = [Renge = (4]




9.) Given the graph from problem 8 of g(x), graph h(x) = g(x+2) and j(x) = - g(x) using graph
transformations

a) h(x) b) j(x)

(%) (B4

YV, (3) @3 [\ @3

(‘I-D (5,"")
V\(l) - \;'d—\wb NMensSheme hon e{— j()‘) ‘)({\: of e l-y:nS("D!r*’-hu’\ of C)(Y)
hoAw debk by 2 flip ove X-aXs

10.) if f:lR—IR and f(x) = 3x-4 using the ideas of one-to-one and onto decide whether
or not f(x) has an inverse function
‘l ne " C«S“" \/

one-fo-cne * passes e horizonte)

onto - rw‘3¢\' = Rm52— J
pne - Yo -one  and onto

7
i %\ - _
< =hedi zon kel I “K

< T

2 Konjz, ;Tc(ae,"

11) Ifgx)= (%);:_:; , find g”' (X). (Assuming the implied domain x#—3) B
i, - -3x -4 R4
Y:_ A X H =) 3 ' ()(\ = X - L‘
X3 X-a a-X

(Xr3)y = Adx-H
Xy + 3y = ax -4
Xy-ax = ~3y-4
x (y-2) = - 3y-H



12.) What is the implied domain of the function f(x) = 3Y—2x+42?
O con't L even ooy of m,ja\H\N/ numbers “'Do main = [R - (D\,wﬂ
@ cn’t dinde \37 0 -

2 -AXxtH{ <O X>+ 2

Sax<H 5 we Gk heve X >3

3 2
13.) Solve (2x"—4x"+5x—17)

express your answer with the remainder if you find one.

2x—4 s
X' +0xt+ X
AX-H [3x3- 4’y Sx-F
-@x - Yx)
Ox ¥3x
~ Lox7+ Ox}
SX -+
- 5x-10
3 = Yemanndy
P Sowhon ¢ XJ\' % ¥ af_ ,_‘\

14.) Graph the linear polynomial function p(x) = i—x -5.

y-axis -
- Y= x-S
\
5 S\o‘n ey
4 \[?m\' - -y
3
2 )(-.\n\' :0:%}_)('%—
. |
1 X-axis 7 X=9
6|5 |-43]221] 1| 2| 3] 4] 5| 6 X = a0
2 X Y
3 o} -3
4 T N
- p &)
5] 11— | -4
B 4| -k




bl

15.) By completing the square (formula: p(x)=a(x+—g—a—)2+c—g)
Graph the quadratic polynomial p(x)=2x"+4x—5
a: a' b = L‘ J Ca: ‘S- S
N (4)

PO alkr 3 ) r (5) - H(w

= A(,(H)lJf -S -2

2
= 9\5)(\'1% _ig_),c\ou\)n q-
= 6“‘?\" AX \c“'\' |
y-axis
64 QXL

d N

u Vv | x-axis




16.) Completely factor the polynomial p(x)=2x>+6x"+2x+ 6

p)= (X3 2x 7+ %Xr 3)

quass 1 a(-\43-V43) 30
/-3 2(-23+33-3v3)=0°

x* £+ O ¥\ _ .
Xr3[%3 4357 +Xx 3 230 &%
— X3y 347 S 3 iy & frcher
‘__09232‘ D'nSCf;\m'mW\\' - bldac = O”- 4D
Xt X =-H420
N D o voodd
QX3 (X7 ¥ ) \
L ( \( ) )(1\-'\ 15 YMeAnit
(x-2)
17.) Graph the exponential function f(x)=(§) ‘
: = — 5 eX D\"\&f\H‘J
y-axis Bose = 32
51/\\ Y
g \ whan X = & .
Ly ()
4]\ FO=(3) -(5) =\
3 | .
N - n X |Y
2 \\ 0 %)”:q
1 N i -\
-6 |-5 [-4 |-3 (-2 |-1 1! 2| 3| 4| 5| 6 9 ‘
L
2 31(3) = 3
-3
-4
-5
-6y




18.) Find the vertical assymptotes, x-intercepts, and the leading order term of the rational function
(x+4)(x=3)(x*+1)
r(x)=

3(x—1)(x+2)
Nes beed o\ss\jmr\-b\-e,s + ooty of dirominarov = ﬁ,’; I

K-inkscepls = voobs of humesetor = FLI/ BA
Lording or dur eimn = Lot (aumbrere) RIS :@

LOT (dunominetor) ) 3 (,(\ ()L\ 2%

19.) Using your solutions from problem 18, graph r(x):(x+4)(x_3)(x~+l)
3(x—1)(x+2)

y-axis WO W) ey
64 ‘O Hen

T
l
' _ (O =y
r(l)' _____—-:,——--&
IAIGE L

c(3): (DO oy
CIOI I

|
AR ERLY
X

X-axis




20.) Solve the logarithmic equation: log,((x+2)*)+log,;(9)=5 forx

3log; (x+3) ¥ log,(37) = §
3log , (xr2)F Aleg(3) =S

3\033(X*9‘): S-a =3
2) = |
\033(>(+ ) X
21.) Solve the exponential equation: e* e™ =4 forx
X -4 X+ 3x-4 1 -
6 € = Q = 6 X = Ll

(oje (QL\X-H) = \Oje(q)

Hy -H = \Dje (LI)
Hx = log,(4) +4

3

- \3(:)&('4) + L"
1_‘.

SN

P

22.) Use that a* and log, x are inverses and graphing to show that log, x is not a function

¥ y“-‘aXIS, = inverse of \05\(3‘)
/ = X =)
5 7
2 = \u‘)\(x\ 15 v Nesrhed
3 . line which
g . fale e vukheel hin
Z B )\ : ok
il 1‘/ § _,| X-axis
5[5 [-4 |3 -2 [ ] 1] 2| 3| 4] 5[ s . log\(ﬂ 5
9 not o funchon
/ -3
-4
, 5
L’ -6¥



2" if x&(—w,2)
23.) If g(x) is a peicewise defined function with g(x)= —x if x&€(3,5]
-3 if xe(5,0)

then evaluate the following if able, and if not possible write undefined and state why

a) g(0) 0 < (-, ) o
> 3()()=Rx ) 3(0)=a :m

b) g(2-5) as é (—O.)i 3.) oY (3Iﬂ l
) 9(35) 'S m&ﬁma o5 AT 15 ve¥r in e diimeain J?

c) g(6) ( )
e 5,
éa(x):f?) = 3((9)':@

24.) Graph g(x) from problem 23

y-axis
6A
5
&

4 1/

3

2
el L B
6 |5 |- |3 221 1] 2] 3| 4] 5| s

-2

-3

]
NS
/{\




25.) Solve the following system of equations for x and y.

g 3
2x+4y=7 AxtHy =t : 32 .2,2
(Bx—2y=-5) %2 5 (ox-a-\1=f\o LJ\/ + 4711
2\
8x = -3 Hy = )
- N = )
X7 3 /0

&(%) Fay =1

‘%+Hv=?‘=’"—3*”7‘1

26.) Is x=1,y=2,z=3 a solution to the system of three linear equations of three variables
x+y+z=6

2x—y+3z=9
—x+y—z=-2

M+ () (3= 6V
2+ -\@)+43(x) = 2-axa =9V

-y 3y =(3) = -\+23-3 = ,9\\/

= %:\/ ‘/‘= 2, 2=3 IS o Solhon o MSys\uv\

-2

27.) Find the product of (1, 3, 2, 0) 41

7

= () + DHE) + OENF O

= =23 i3 -2 ¥0O

= \9\—‘-\=



2
-1
5

1
2
—4

28) Find 2 + 3

4 3 H+3 +
= ('l> ¥ ( b 5 = (—l-i'b = 4
bo - lo- |2 -

! -02}[_32 ﬂ = OB () Q)(R) F (-2)()
B+ (D 36+ (0) (4)

B 3¢y 2 - 8 _(D
q+0 ( +0

10 0l]-2 1 7
30) Find |0 1 0| 5 -1 4 1 -4\ 7
00 1/|-2 4 0 = S -1 4
—~ -2 L} o
/l&en\ﬂ'\/

Pry matix Foss
SR \W\;;j 3\%5 btk . matriyx

31.) Find the inverse of the matrix

2 3
-1 1

debesrminant = 2= 3D = 2Ar3 =9

y o) d -b
23 W use = — —
A}a‘— ~C [28

7]




-1

3 -1 -1
8 10 3
2 3 1
of linear equations of 3 variables:

32.) Given that

1 -2 7
-2 5 —17| find solutions to the system
4 —-11 38

3x—y —z=3
8x+10y+3z=2
2x+3y +z=1

Moty Ea.uuz'\:\oﬂ

3 ___\ ,\ATX VSW
8 o 3|y | =]?
X 3 ) LZ \
— L )
X1 [3 -v 413 V-2 F A [R]
T 1218 lo 3 2 (-2 5 A7 {]a
ya
Jol2 3 0] | 4 o-wo 38 ||
Gy e )y 10 3.4+ 7
-2(3) ) 3‘(;1\ AN = |-, ¥lo -7
4(3)4 (WG F3e0)
i 2 - 22 +3%

|

§]




